ER-IRB/AREE-FR AH6E5 23R HE

REEE IHIRERIRE

FFR P 2R X e IR R R
BT — R X A¥eth s
HETHEEFLOLME | RIFILE
X7 (BKE) REMEEHEE |14
(EWKE) |LIEREIEHEE (99
IB&NESRFRIEH=8.9, FLEFIFZ=-1.4, ZF)IIFtig=15.3,
: —= e | RENIFRIE=6.2, 1R)1FRIE=14.7, BERIIFRE=12.6, JEH)IFE=17,
REMBESEE o) o108, B Fig-248, L3)IFH=131,
HoK EFIR)IFEi8=5.7
T ER)FRiE=(5, 16.7), EMIIIFE=(5, 20.7)
= EEANEKTR | gy oo ;
=4 o bR BFINTRIER], FLIRTEFHNKR FIIRAE]
i 5 fE 18m/s
A FHRRE fi: 25m/s
= T ; fE 16m/s BICKEBREEETEFES
FRE FERE L 25m/s E-sbBEBEEES
AE FFEDES 1285 B & E D iFES50cm
KR HFEES 6.0m
= 80 B 1.4m
PN RENEEHEE |7
TIEMEEHEALE |72
(BRI FRis=7.1, FEFIFRE=1.1, RE)IFE=12.2,
REMEfRRNEE (RE)RE=49, ®R)15TE=11.5, BERIFE=10, ;E%&)IIFiH=13.6,
ERIFRE=8.6, EAIIFHE=19.8, LEJIIFE=104, EFIT)IFE=4.6
BK o % R)IFEE=(5, 11.5), BERIIFRIE=(5, 9.2), ;E&)IIFHE=(5, 136),
LEE Il FiE=(5, 18.6)
RETNSATR | mr Tt 88]
W . fEE 13m/s
SR A SEEE B 15m/s
= o ; fE L 11m/s BICKDBEREEEHES
RE FHRE B 15m/s Bl £ HREBEEES
SEEs rE BEDES 2B RIS O R300m
- B8 BEES 3.0m
=i AL 1.0m
B BEECLUBEN T RANOBE
ME 70mmBl b 24BN ELMEE GEEKE) DEET
Rt *E*n [‘ii 200m
= = B 500m
25 BI/INTEES0% ERHTE60%
BER @245 R E DIERE30cmEl £
o= QBEEDFEE50cmE ET, BEHSR5CLE
& 5A~10A: (FHKIER) FEKYSCLULIELBA2A LI E#EE
o 1MA~48: (BREKE) FELYSCULEN
] RIESKEICUT
&K MRS K JKBACUUT SIB-5°CLUTF CHEESm/sLlE
ES B0 CKH T, sEE M UL E D E A SRR LLE ik

EREREE R R AR

1 B%Fﬂﬁﬁﬁ% [100mm

EREREEY KRS OHEASHhEICLSREEERLTIET.



